TR EEEEREBOTHKE

3A® (BG: M)
XHEAR | XHERS X4 XHE%
&t 0
2845 (Bfr:A)
XHEAB | XHERS X4 XHE%E
2A3H| o |[ZotEIBRIEAR) 17,600
=) 17,600
1A% (B M)
XHEAR | XHERS X4 XHE%
1H98 E=-1 SH2EEXETL_TIS7EEGRRBLELIREE(/10) 5,000
18208 E=3= ERTERBASHEERSEN/22) 5,000
18218 E=3= EETABRENFESSE(1/24) 5,000
18278 E== EREISEMHEEARERESE (1/29) 3,000
=1 18,000
12845 (BGz: M)
XHEAB | XHERS X4 XHE%E
&t 0
118% (BG: M)
XHEAR | XHERS XG4 e
11A1H BE |HEFAK (THE®RSE) 10,000
11818 BE |KESELK(MBRERSE) 2,200
11A6H BE |FERHBRERSE) 1,463
11A78 2 |[TRETFEFREZDESE(11/8) 5,000
11A198 28 |[[FSRERMEEREAAIBHRELE(11/20) 5,000
118218 RE |TOIFEEESRBHEKE (11/25) 6,000
118298 28 |[ZEMEBEERXBEKLE (11/30) 5,000
&it 34,663
108 % (B M)
AR | XHERS X4 XHEE
108178 28 |[EEEIRENEE-BEBHRESE00/23) 5,000
10A238| Z0fth |[THRERFLIER KBELERFEIRES RERERERESR) 14,850
108248 BE |FERHBRERSE) 1,463
108298 28 |hEELRFLIKYYIYNnERBRESLE (10/30) 6,000
&Et 27,313
9B % (Bfr:A)
XHEABR | XHERS X4 XHE%E
98258 28 |(EERTAR—VLEEAEEE BREIREX-BRESRE (9/27) 5,000
= 5,000
8HH (BG: M)
AR | XHERS X4 XHE%
8A1H =& |¥68EBRBRRAEMIREREEHIERE(8/4) 6,000
&Et 6,000
7B% (Bfr:A)
XHEAB | XHERS X4 XHE%E
78258 2 |[ZETBEBILEESESRSBRISE (7/23) 3,000
= 3,000




6 A% (BG: M)
XHEAR | XHERS X4 XHE%
6A78| O |2019F[RKEZIEBERFRMRITERME (6/13) 5,000
68268 = XRBIREMEE - BEBHRERE (6/27) 5,000
&t 10,000
58 4% (Bfr:A)
XHEAB | XHERS X4 X HE%E
588H B |FER(HRERSE) 1,447
58238 = FIRIXETEBFEVRBHERE (5/25) 6,000
58288 = SHTEEEET_TISTEEGREE (5/31) 3,000
5RA28H = FE22EYT— AT DN ERERT—UREREE (6/1) 3,000
= 13,447
485 (B M)
XHEAR | XHERS X4 XHE5
4F9H BE |HEAK (THRERSE) 5,000
48108 BE |FERHERERSE) 1,933
48198 28 |[ZETESEHARKBHEREWN) 5,000
482580 28 |TOJEEBRAT—CBZITEUMVIF-LERIESE4/27) 4,000
=1 15,933
A&t 150,956




